
1 2 3

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

  日期

  签字

底图总号

主管设计

1 1

       

 

 

 

 

 

1 2 3 4

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

版本

主管设计

替代   

比例

1 1

4.240

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

3 4

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

版本

主管设计

替代   

比例

1 1

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

- ZG12HT
  HT Flexible unit compensation

 40 ±0.02 

 40 
 99 

 5
2 

 1
6 

 1
9.
5 

 2- 4 
+
 
0.012
0 5 

 4- 5.5 

 9
6 

B  

 3
1 

 2
5 

 3
8.
5 

A  

 40 

 8
2 

 1
6.
5 

 4
0 

 40 ±0.02 

 60 ±0.02 

 4
1 

 4
6.
5 

4- 4 
+
 
0.012
0 6

4-M10 9

1

2

3

4

A

B

1

2

4

3

1 2 3

321

B

A

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

主管设计

1

      

 

 

 

 

 

日期

 40 ±0.02 

 40 
 99 

 5
2 

 1
6 

 1
9.
5 

 2- 4 
+
 
0.012
0 5 

 4- 5.5 

 9
6 

B  

 3
1 

 2
5 

 3
8.
5 

A  

 40 

 8
2 

 1
6.
5 

 4
0 

 40 ±0.02 

 60 ±0.02 

 4
1 

 4
6.
5 

4- 4 
+
 
0.012
0 6

4-M10 9

1

2

3

4

A

B

1

2

4

3

1 2 3 4

A

B

4321

B

A

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

版本

主管设计

替代   

比例

1 1

0.194

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

 40 ±0.02 

 40 
 99 

 5
2 

 1
6 

 1
9.
5 

 2- 4 
+
 
0.012
0 5 

 9
6 

 3
1 

 2
5 

 3
8.
5 

A  

 8
2  4
0 

1

2

3

4

A

B

2

1 2

B

A

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

 90 

 4-M12×1 

 2- 5 
+
 
0.012
0 7 

 4-M6 12 

 5
0 

 52 ±0.02 

 5
7.
6 

 4
0 

 1
28
.5
 

 52 ±0.02 

 2- 5 
+
 
0.012
0 10 

 4- 6.5 

 52 

 151 

 1
13

 

 4
0  2

0 

B  

 4
5 

 3
7 

 5
3 

A  

2

1

4

3

4321

B

A

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

杭州弗克机械科技有限公司

 90 

 4-M12×1 

 2- 5 
+
 
0.012
0 7 

 4-M6 12 

 5
0 

 52 ±0.02 

 5
7.
6 

 4
0 

 1
28
.5
 

 52 ±0.02 

 2- 5 
+
 
0.012
0 10 

 4- 6.5 

 52 

 151 

 1
13

 

 4
0  2

0 

B  

 4
5 

 3
7 

 5
3 

A  

2

1

4

3

A

4321

A

 4-M12×1 

 5
0 

 4
0 

 1
28
.5
 

 52 ±0.02 

 2- 5 
+
 
0.012
0 10 

 4- 6.5 

 52 

 151 

 1
13

 

 4
0  2

0 

B  

 4
5 

 3
7 

 5
3 

A  

2

1

1 2

21

B

A

校核

设计

标记 处数

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

主管设计

   

 

1 3 8

Flexible compensation unit series FOUK-HT

ZG12

1 3 9

HT-ZG12

FR

TRL

FZ

TZL

TF

TJ

TP

TG

TE

F
O

U
K

-H
T

HT-ZG25

Supporting
products

Guide pattern

Weight

Sensing stroke
range

Spring thrust
range

Spring type

Product
attributes HT-ZG12 HT-ZG25 HT-ZG32 HT-ZG40 HT-HE40 HT-HE50 Unit

TG12-FZ34/FR28

Linear bearing

0.65

6~9

3~8

Rectangular/
circularsection

Rectangular/
circularsection

Rectangular/
circularsection

Rectangular/
circularsection

Rectangular/
circularsection

Rectangular/
circularsection

TG25-FZ42/FR36

Linear bearing

1.85

7~11

5~14

TG32-FZ55/FR45

Linear bearing

2.3

7~11

8~20

TG40-FZ70/FR57

Linear bearing

4.3

8~12

10~25

TE40-FR36-96

Linear slide rail

2.9

7~10

6~16

TE50-FR45-120

Linear slide rail

4.6

8~12

8~20

kg

mm

kgf

B

A

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

 1
32

  72 ±0.02 

 4- 8.6 

 72 

 166 

 5
0  2
5 

 4
5 

 3
9 

1

1

1

B

A

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

1

B

A

描校

描图

借(通)用件登记

零 件 代 号

 64  30 
-
-
0.01
0.04

 76 ±0.02 

 76 

 4- 11 

 2- 10 
+
 
0.015
0

12 

 166 

B  

1

2

21

A

Inductive proximity sensor

Serial No. Specific model

 Inductive, NPN, 3-core3m

IPSD-2PS-0823-L3  Inductive, PNP, 3-core3m

IPSD-2NS-0823-L3

Through hole for mounting gripper1

Pushing test

Positioning for mounting gripper

Threaded hole for mounting truss

Positioning for mounting truss

Thrust spring

A

3

2

4

B

Note: The standard version of the product 
does not include the sensor,which is an 
optional item.

Through hole for mounting gripper1

Pushing test

Positioning for mounting gripper

Threaded hole for mounting truss

Positioning for mounting truss

Thrust spring

A

3

2

4

B

Note: The standard version of the product 
does not include the sensor,which is an 
optional item.

End-of-Arm Tooling

WWW.FOUKGRIPPER.COM WWW.FOUKGRIPPER.COM



4

比例

替代

比例

名称

零件号

 

4

A

B

4

重量 比例

版本 替代   

比例0.194

名称

零件号

 

 

材料 杭州弗克机械科技有限公司

 40 ±0.02 

 60 ±0.02 

 4
1 

 4
6.
5 

4- 4 
+
 
0.012
0 6

4

3 4

A

B

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

版本

主管设计

替代   

比例

1 1

0.194

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

A

B

杭州弗克机械科技有限公司

 90 

 2- 5 
+
 
0.012
0 7 

 4-M6 12 

 52 ±0.02 

 5
7.
6 

4

3

4

A

B

4

审核

更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

版本 替代   

比例

1 1

0.576

名称

零件号

 

 

   

材料

 

 

 

 

杭州弗克机械科技有限公司

日期

 1
32

  72 ±0.02 

 2- 8 
+
 
0.015
0 10 

 4- 8.6 

 1
35

 

 72 

 166 

 1
24

 

 5
0  2
5 

B  

 7
0 

 110 ±0.02 

 4-M8 

 2- 8 
+
 
0.015
0 8.5 

 5
0 

 72 

 110 

 6
3 

 5
3  4
5 

 3
9 

A  

1

2

4

3

1 2 3 4

A

B

4321

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

版本

主管设计

替代   

比例

1 1

0.708

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

 2- 8 
+
 
0.015
0 10 

 1
35

 

 1
24

 

 7
0 

 110 ±0.02 

 4-M8 

 2- 8 
+
 
0.015
0 8.5 

 5
0 

 72 

 110 

 6
3 

 5
3 

A  

2

4

3

3 4

A

B

43

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

版本

主管设计

替代   

比例

1 1

0.708

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

 1
32

  72 ±0.02 

 2- 8 
+
 
0.015
0 10 

 4- 8.6 

 1
35

 

 72 

 166 

 1
24

 

 5
0  2
5 

 7
0 

 110 ±0.02 

 4-M8 

 2- 8 
+
 
0.015
0 8.5 

 5
0 

 72 

 110 

 6
3 

 5
3  4
5 

 3
9 

A  

1

2

4

3

1 2 3 4

A

BB

A

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

版本

主管设计

替代   

比例

1 1

0.708

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

 1
66
 

 1
58

 

 120 

 9
0 

 1
69
 

 4-M10 

 3
4 

 23 A  

 102 

 6
7 

 4
 

 64  30 
-
-
0.01
0.04

 76 ±0.02 

 76 

 8
0 

 4- 11 

 2- 10 
+
 
0.015
0

12 

 4
0 

 166 

B  

1

2

4

3

A

B

432

 1
66
 

 1
58

 

 120 

 9
0 

 1
69
 

 4-M10 

 3
4 

 23 A  

3

A

43

 1
66

 

 1
58
 

 120 

 9
0 

 1
69

 

 4-M10 

 3
4 

 23 A  

 102 

 6
7 

 4
 

 64  30 Guide tenon
-
-
0.01
0.04

 76 ±0.02 

 76 

 8
0 

 4- 11 

 2- 10 
+
 
0.015
0

12 

 4
0 

 166 

B  

1

2

4

3

1 2 3 4

A

B

4321

B

A

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

版本

主管设计

替代   

比例

1 1

1.269

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

 1
00
 

 40 ±0.02 

 78  16.5 

 134 

 2- 6 
+
 
0.015
0 14 

 6
4 

 19  40 
 4-M6×16 

4- 6.6

 4
.5
 

 12 
 
-
0
0.03 

 5
9 

 感测行程范围7-10 

 1
2 A  

B  

D  C  

 54  1
18

 

 134 

 8
4 

 54  28.5 

 4- 12 

 1
00
 

 60  39 

 4-M8 

 8
0 

1

2
3 5

4

6

1

2

3

4

5
6

A

B

C

D

1

5

3

2 D1

5
C D

1 2 3 4

4321

B

A

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

版本

主管设计

替代   

比例

1 1

0.516

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

 1
00
 

 40 ±0.02 

 78  16.5 

 134 

 2- 6 
+
 
0.015
0 14 

 6
4 

 19  40 
 4-M6×16 

4- 6.6
 4

.5
 

 12 
 
-
0
0.03 

 5
9 

 感测行程范围7-10 

 1
2 A  

B  

D  C  

 54  1
18

 

 134 

 8
4 

 54  28.5 

 4- 12 

 1
00
 

 60  39 

 4-M8 

 8
0 

1

2
3 5

4

6

1

2

3

4

5
6

A

B

C

D

1

5

3

2 D1

5
C D

1 2 3 4

A

B

4321

B

A

审核

校核

设计

标记 处数 分区 更改文件号 签名 年 月 日

工艺

标准化

批准

阶 段 标 记

共  张 第  张

重量 比例

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

版本

主管设计

替代   

比例

1 1

0.516

名称

零件号

 

 

      

材料

 

 

 

 

 

 

杭州弗克机械科技有限公司

日期

 1
00
 

 40 ±0.02 

 78  16.5 

 134 

 2- 6 
+
 
0.015
0 14 

 6
4 

4- 6.6

 4
.5
 

 12 
 
-
0
0.03 

 5
9 

Sensing stroke range 7-10 

Sensing stroke range 8-12 

 1
2 A  

B  

D  C  

 54  1
18

 

 4- 12 

 1
00
 

 39 
2

3 5

6

1

5

3

2
1

5
C D

1 2 3

B

A

校核

设计

标记 处数 分区 更改文件号

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

主管设计

   

 

 

 1
20
 

 5
0 

 148 
 90  10 

 60 ±0.02 

 60  15  2- 6 
+
 
0.015
0 16  4-M8×16 

 4- 9 

 14 
 
-
0
0.03 

 4
.5
 

 6
8 

 感测行程范围8-12 

 1
5 

B  

A  

D  C

 55  1
40
 

 140 

 8
8 

 33  48 
 4- 14.5 

 80  30 

 1
16

 

4-M10

 1
00
 

1
3

2

5

4

6

4321

B

A

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

材料 杭州弗克机械科技有限公司

 1
20
 

 5
0 

 148 
 90  10 

 60 ±0.02 

 60  15  2- 6 
+
 
0.015
0 16  4-M8×16 

 4- 9 

 14 
 
-
0
0.03 

 4
.5
 

 1
5 

B  

 55  1
40
 

 140 
 8

8 

 33  48 
 4- 14.5 

 80  30 

 1
16

 

4-M10

 1
00
 

1
3

2

5

4

6

A

4321

A

 1
20
 

 5
0 

 148 
 90  10 

 60 ±0.02 

 60  15  2- 6 
+
 
0.015
0 16  4-M8×16 

 4- 9 

 14 
 
-
0
0.03 

 4
.5
 

 6
8 

 1
5 

B  

A  

D  C

 55  1
40
 

 140 

 33  48 

 80  30 

 1
00
 

1
3

2

6

1 2 3

321

B

A

审核

校核

设计

标记 处数 分区 更改文件号

工艺

标准化

批准

  日期

  签字

底图总号

旧底图总号

描校

描图

借(通)用件登记

零 件 代 号

主管设计

   

 

 

1 4 0

Flexible compensation unit series FOUK-HT

1 4 1

HT-HE40

HT-HE50HT-ZG40

HT-ZG32

FR

TRL

FZ

TZL

TF

TJ

TP

TG

TE

F
O

U
K

-H
T

Hexagon socket head cap screw
(standard)

Through hole for mounting gripper

1

3

4

A Pushing test

Positioning for mounting gripper

Threaded hole for mounting truss

C Slider assembly

Rotary connecting plate

Pushing spring

D

B

2

5 Avoidance hole

6 Positioning guide strip

Hexagon socket head cap screw
(standard)

Through hole for mounting gripper

1

3

4

A Pushing test

Positioning for mounting gripper

Threaded hole for mounting truss

C Slider assembly

Rotary connecting plate

Pushing spring

D

B

2

5 Avoidance hole

6 Positioning guide strip

Through hole for mounting gripper1

Pushing test

Positioning for mounting gripper

Threaded hole for mounting truss

Positioning for mounting truss

Thrust spring

A

3

2

4

B

Note: The standard version of the product 
does not include the sensor,which is an 
optional item.

Through hole for mounting gripper1

Pushing test

Positioning for mounting gripper

Threaded hole for mounting truss

Positioning for mounting truss

Thrust spring

A

3

2

4

B

Note: The standard version of the product 
does not include the sensor,which is an 
optional item.

Mounting steps of gripper:

1.First remove   1   through   5   .

2.Position on the gripper with the 

cylindrical locating pin through   3   .

3.Fix   D   on the corresponding gripper 

with the hexagon socket head cap screw 

through   2   .

4.Finally, install and fix the two plates of    

  C   and   D   with   1   through   5   .

Mounting steps of gripper:

1.First remove   1   through   5   .

2.Position on the gripper with the 

cylindrical locating pin through   3   .

3.Fix   D   on the corresponding gripper 

with the hexagon socket head cap screw 

through   2   .

4.Finally, install and fix the two plates of    

  C   and   D   with   1   through   5   .

End-of-Arm Tooling

WWW.FOUKGRIPPER.COM WWW.FOUKGRIPPER.COM


